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i. (10%)Find the solution of the 2. =52
dx 3y -5

2. (10%)Find the solution of the x% +6y =3xp*"

3.Solve the initial value problem y"—4y =2¢™
(5%) (a) General solution
(15%) (b) Particular solution

4. Find the Laplace transform of

(5%) (a) £t}

(5%) (b) L{cos2s}

5. Find the Laplace transform of

(5%) (@) ﬁ{“‘f’}

(5%) (b) Lite™'}

6. (10%) Determine the inverse of the matrix

1 -1 -2
A=|2 -3 -5
-1 3 5

7.(5%) (a) Find the norm of the vector (2, -1, 3).
(5%) (b) Normalize the vector (2, -1, 3).

8. (10%) Rewrite the system of equation to a matrix form and find the reduced echelon form of the matrix
X +2x, —x,+3x, =4
2x, +4x, —2x, +7x, =10

—x, = 2x, +x, —4x, =6

9. (10%) Find the value of "™ =




